“H7-8FEHSHEHARAK—RER(FihARE)

E| mams & 25 =2 = ENE
1| TY2277 lmrLovos0-o57 9 | o00m/g  |BAEEERL
2| =% [BECEWA 10| 4c0m/m [FETER
3| moLL |varav 1 so0F/zE |52, AERE
o Anur  |2AF-L 8 | 200m/8 |BLIERE
—f% 1,000M/A
5| AR [HEESSREE B | Ziew W0A/A [150022100
EE W
o | NSy |[TEBRNSFTIST 8 | somE  [FERIEE
7 S3 |PEmRsST 10| 2000m/E |EEACEED
8| mm |Exa 5 | Lo0m/E  [RAGER
0| s 29102 8 | oo0m/E  [BRIEA
0| S—uk-u [EeEwRS-UK-Lo5T 12| somsE  |BEEEH
Nl mEER o |kER n| o o0mys  [BRERE
12| R (TN & UREHKES ST 18 soory/g | EAHEE
13| femg  (emoST 16| 2o000m/p  |[BEREE
4| IPOEYR (EHIFPOEIZRIS5T 8 2,000// 8 %233552%%0
5 3A |[Es<3N 7| 3o0m/g  |BRIEE
6| 2@y |[REYOR | v00meE  |TEER
1| TR |THTHeERR 16 e |R1SERE
18| (A wmma 159 1,000M/F |bE B
9| gl [ERRBRTSST 13| ooy BRI
0| BFHTUC |[MSHCIES (2)@BTav ) 73 1,0003/8  (b& BF




“H7-8FEHSHEHARAK—RER(FihARE)

P

E| mams *h & 25 =2 = EEBE
0| FETHE |MERELRELIR 59| 1500F/E  [iEEE
2| GEAE |THRNLY—TvU5T 5 | 1om/E |BIERRE




